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QUESTION 1

What is Usable Capacity in vRealize Operations? 

A. The total capacity available. 

B. The total capacity minus the current demand. 

C. The total capacity minus the sum of the high availability reservations and vRealize Operations buffers. 

D. The amount of capacity a workload is requesting. 

Correct Answer: C 

Reference: https://pubs.vmware.com/vrealizeoperationsmanager-6/index.jsp?topic=%
2Fcom.vmware.vcom.core.doc%2FGUID-85FCA01D-D667-4962-B37C-165F7CA1885E.html 

 

QUESTION 2

What is the length of the sliding window used to calculate recommended capacity? (Choose the best answer.) 

A. 60 days 

B. 90 days 

C. 120 days 

D. 30 days 

Correct Answer: D 

 

QUESTION 3

How does a user with authorized rights limit the dashboards viewable to a user? (Choose the best answer.) 

A. The administrator must manually configure permissions on each dashboard 

B. Once the user is in a group, dashboards can be shared with that group 

C. The only dashboard a user can see are the ones they create 

D. Users will see all the dashboards 

Correct Answer: A 

 

Reference: https://blogs.vmware.com/management/2017/01/custom-vrealize-operations-dashboardsprivate-access-
lists.html 
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QUESTION 4

View the Exhibit. 

In the Policy Library tree shown, a change to which two policies could have an impact on the Production MySQL policy?
(Choose two.) 

A. The Default Policy 

B. The A Production Policy 

C. The Base Settings policy 

D. The Production PostgreSQL policy 

E. The Production MySQL policy 

Correct Answer: CE 

 

QUESTION 5

View the Exhibit 

2VB-602 PDF Dumps | 2VB-602 VCE Dumps | 2VB-602 Practice Test                                3 / 4

https://www.pass4itsure.com/2vb-602.html
https://www.pass4itsure.com/2vb-602.html
https://www.pass4itsure.com/2vb-602.html


https://www.pass4itsure.com/2vb-602.html
2024 Latest pass4itsure 2VB-602 PDF and VCE dumps Download

In the widget referenced in the exhibit, how would a user find available dashboard transitions? (Choose the best
answer.) 

A. Right-click this selected object: 

B. Click this icon: 

C. Click this icon: 

D. Click this icon: 

Correct Answer: D 

Reference https://communities.vmware.com/thread/451536 
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